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gives off heatslowlyand reqularly. D O OO0 OO0 000000
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and still remains motionless, the body is said to be in equilibrium. [
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[1 1. Sound is carried by air, and without air there can be no sound.
OJ00000000000000000000 2. After firing
the torpedoes the forward part would lose weight and the submarine
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[1 3. Aluminium is used as the engineering material for planes and



spaceships and itis both lightand tough. D O O OO0 OO0 OO
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provides new generations and makes possible the continuation of
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0”7 0O 0 O O Several disadvantages tend to limit the use of
hydraulic controls and they do offer many distinct advantages. [ [
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“ 007 1. When correcting, pay close attention to the seventh and
last paragraph inthetranslation. 0 0 OO0 00000000 OO
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